EARAROBREBRT —5 XN—ZXBISH—F 20224E11830H (k) 13@F#38

IV EERESR) B 1 SR—R BN R
[xE%] 15 :600,000H  23%&:180,000 @  33#&:90,000H  43#&:60,000H  53&:30,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— —p e, ey BEEt 144, -5-3- . - PEka— (%)
1B 577ony3 R s A IR VS e
RFPYES—L B:FRUTUYR FET7— L
< " HLEFBSEE 145, -2-2- . - HOEE (%)
3 3| 7PV RLIL—Ya 8 4 o 12135)0 2-2-2-1 | 38.5 2 z:g? e A
RixAIZT7—R B/ wVsFILIzU ks ARAIWT7—L
~ = 3 | BREE 1:45.3 5-4-5-3 | 38.3| — 3 485 | HEEET ()
3Pl 2| VI TILT 5.0 (112 e | Sy
RO—IRAVAA B:OREI7LYF AZEY1—T7—L
o NI REME : -3-4- - BHEIES ()
45|5 | EVITIVYS "3RG R I Ol e
RFAIATp— BTV TH—I HBT7—L
°r__ 4 4 | BAEE 1:46.6 6-7-7-7 | 38.4| - 7 471 | IEEER (W)
5177 | IND—=RAAA 56.0 ) 4s) | BT
RVEWDF— BARRLYNTAI iR 45
S SHEKX 147. -6-6- . - DOEESER (BEA)
6 Wl 4| 7LV RROX R -ty it reee | #8 ° ffj) WREA
Rib—EyYa—FY BRINLIRTU— VA9 TTF— L
~,~, L0 o= FEIBRER, : -1-1- - HEFIEE) (%
Sl Tyvesas2 % o4 | B8 1.&8).2 1-1-1-5 | 41.8 4 (4+714) :F#%E( )
R:IAYy7ROY B:IAYYNVP—=IL FERIS
@ 1—F—&RIEL
13—7F— 1,3,5,6,2,7,4
20—F— 1,3,5,2,6,4,7
30—— 1,3,6,5,2,4,7
40— — 3,6,(2,5),1,4,7
o ILRE
BB 6 160M | | 914 K 3-6 120M B & 3-6 1904 3EE 2-3-6 200/
B B 6 110/ 2-6 1509 =51 6-3 3004 3EH 32 600
3 100/ 2-3 170

ABIC OV TRUTEREERRODDZE. THRIIZEL.




